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int x; int y; int w;

int £ (int z) {
print x+y+z; /* COO0O printf(%d\n", x+y+z); OO0 =*/
return z;
¥
int g (int z) {
int x;
x = 100;
if (z == 0) {
int y; /+*00000O00O0OOO =/
y = 200;
return f(z);
} else {
y = 300;

return f(z);

int main () {
x = 10; y = 20;
w = g(£(0));
return g(1);
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4 let rec f n = let rec gn = )
if n < 2 then if n < 2 then
1 (1,1)
else else
f(n-2)+f(n-1) let p = g(n-1) in
in £ 5 ;; ((snd p), (fst p)+(snd p))
in snd (g 5) ;;
N /
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let rec hn = fun p > let rec hnp = h
if n < 2 then if n < 2 then
p p
else else
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// Parent.java // Child.java

class Parent { class Child extends Parent {

// Test.java

class Test {

\

public String methodl () { public String methodl () {
return "Parent"; return "Child";

} }

Parent () { Child O {

} }

public static void main(String args[]) {
Parent p = new Child();
System.out.println(p.method1());
method2(p) ;

}

public static void method2(Parent q) {
System.out.println("No.1: " + g.method1());

}

public static void method2(Child q) {
System.out.println("No.2: " + g.method1());

/
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f f X undef
z=0 z=0 z=0
AL — AL — AL
CL — CL — CL —
(global) main main :l main :l main [main :l
AL — AL — AL — AL — AL — AL —|
cL —;] cL —j cL cL cL —i| cL _j
(global) (global) (global) (global) (global) (global) (global) g |
X undef x undef x=10 x=10 x=10 x=10 x=10
y undef y undef y=20 y=20 y=20 y=20 y=20
\W undef W undef w undef w undef w undef o |w undef »w undef]__
cal main x=10;y=20; cal f(0); print x+y+z; return z; call g(0);
f
z=0
AL
_ CL —
x=100 inty;... int ;... .—_I inty;...
y=200 y=200 y=200
AL AL — AL —
CL _;I_ CL _;_I__| CL _:_I__|
B g g g g
x=100 x=100 x=100 x=100 X undef]
z=0 7z=0 7=0 7z=0 z=1
éll: ] AL AL AL — AL —
—] CL — CL — CL — CL —
main ‘—‘l main ‘—‘l main :l main :l main main main ‘—‘l
éll:_:| éL— AL — AL — AL — AL — AL —
_:l L — CL —:| CL — CL —:| CL —:| CL —
(global) (global) ﬂ (global) :l (global) :l (global) :l (global) :l (global) :l
x=10 x=10 x=10 |< x=10 x=10 x=10 x=10
y=20 y=20 y=20 y=20 y=20 y=20 y=20
L»Jw undef w undefl—» w undef w undef w undef »|w=0 | — |Jw=0
{inty;... f(2) print ...;return z; return f(2); W= call g(1) _|
x=100; if ... else {y=300;
f
z=1
AL
CL —:I
g g g
x=100 x=100 x=100
z=1 z=1 7z=1
AL — AL — AL —
CL — CL — CL —
main ‘—‘l main ‘—‘l main :l i
main
AL — AL — AL — AL —
cL — CL —:| CL —:| CL —:|
(global) 2 (global) | (global) i (global) ) (global)
x=10 x=10 x=10 x=10 x=10
y=300 y=300 y=300 y=300 y=300
Lyl w=0 w=0 >l w=0 w=0 J}—fjw=0
cal f(z) print..;returnz;  return f(2); return g(1);
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A
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n=0 cy]

n=2 c||

f: All
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n=1
g 9 9
n=2 n=2 n=2
call o p=undef p=undef p=#1
9 [*] 9 [¢] 9
n=3 n=3 n=3 n=3 n=3
E:undef E:undd p=undef p=undef p=#2
9 9 g ] 9 9 [¢]
n=4 n=4 n=4 n=4 n=4 n=4 n=4
p=undef p=undef E:undef E:undef p=undef p=undef p=#3
9 g
g g 9 9 ~
gn:5 Ei1=5 gn:s n=5 n=5 n=5 n=5 n=5 n=5
punde]  |punet| | pmuncel | peuncer] |pounder]  [emundel]  fpmundef|  PRc) pe
stack (global)]  |global)]  |(global)]  |(global)]  |(global)|  |(global) (global)]  |(global)|  |(global)] |(global)]  [(global)
acl
—> —» —>] —» —>] |—> —>| — —»] —»]
9(5) 94 93) e o(1) return (1,1) retun (1,2) retun(2,3)  return(35)  retun (5,8)
#1|  free free free free free free (1,2 (1.1 @y (1) @y
#2  free free free free free free free (12 1,2 (12) (12
#3 free free free free free free free free (2.3) (2.3) (23)
heap #4|  free free free free free free free free free (3,5) (35)
#5|  free free free free free free free free free free (5,8)
#| free free free free free free free free free free free

0 3: (2-b) 00O fibonacciDOOODOOODO

end of execution



